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2E 22,338 £F 6,264 |&F 32644 £H 22297 |&H 17,615  £E 18,120 [£E 15229 & [H 73 |&H 11,205 &[H 31,524
1 |R#H 36,937 ERW 9,282 |¥rim 37,344  FiRTH 27550 |fEETH 22,143 REART 22,664 |F#EBTH 18,581 | &R 84 (& 13,127 | BETH 36,905
b 36,254 | KRR 9,186 @& 37301 @B 26227 | Ko 21,831 fEEM™ 22664 |ERM 17,272 | FEH 84 (B EH 13,121 | &£R™ 36,297
3 |FnFrLT 35421 || 8925 [SULV=FEH 37,104  HEIERT 25637 |RARTH 21,128 KHH 22,387 |#ITH 17,258 | 82 |KRM 12,943 |$rimT 36,066
4 |m=RW™ 35264 |ILfisth 8,846 | RIREBX &R 36541  FEET™ 25431 |BERET 20958  EET 21,268 |#FTH 17,190 =R 80 [P 12,626 | FnFxILH 34,810
5 |[#Fh 34,273 LT 8771 BT 36,370 =WV FEM 25381 |EETH 20805 KRR 21245 |FEH 17,053 |ILfsTHh 80 [IF BT 12,569 | E I 34,785
(PN 34,227 LA 8,644 |f&ET 35808 GEMATH 24975 |REARTH 20691 {EE™ 21,014 |l 16,900 REm 80 BB ™ 12,537 KB 34,691
7 |KEH 33,097 | FFRILT™ 8,640 |#E1RR™ 35633 BKAT 24,465 | KBRT 20392 FEREBET 20,659 |SEH 16,375 #ARR™ 79 |FnELT 12,461 | KiET 34,615
8 &M 32,927 KiEM 8,496 |FRfEIT™H 35210  ALRTH 24268 | KiEH 20211 HEBRW 20,391  |EERETH 16,342 | B& [ 78 | KiEMH 12,436 I 34,585
9 |[KHh 30,256 |FRARTH 8,457 |BETH 35183 HHFM 24159 |RRM 19874  [RBTH 20,330 |EREHIXER 16,320 RIREBXED 77 4R 12,315 | HF&H™H 34,427
10 | 29,390 A 8,332 |1 34818  Lifigth 24,143 |@ET 19,763  #MTTH 20,028 |iR 16,253 )1 77 |#ERTH 12,201 (K9 34,398
R =k 29,095 tEREA™ 8,137 |lufsTh 34770 HEET 23738 |[L&TH 19453 &M 19,865 [ZETH 16,057 |SLV=FM 77 |RiG™ 12,149 #UT 34,370
12 |fEE™ 28,925 \[RE™ 8,023 | &Rt 34572  RERETH 23730 |{EBT 19,397 KW 19,658 | Kz 16,023 |#3iIh 77 |IR&™ 12,132 | KR 34,250
13 |#lh 27487 |REARTH 7,850 | F&HFH 33418 Il 23622 |HREHXER 19,083  dLAHT 19,601 [T 16,022 |H&ET 77 |ReARTH 12,101 Uiz 33,787
14 |R&™ 27,192 | K4 7,818 | KR 33,143 fl&T™H 23,602 | 19,027  FFRLT 19,305 |[BHEMT 16,003 | K& 76 | KRR 12,013 |#F ™ 33,703
| 15 _[#EARTH 26,483 ;& 7733 [l ETH 32951  £Rh 23463 |Rh 18938 fPEM 19243 [&R 15,735 | 76 [dE AT 11,945 | 33,656
16 |{@R™H 26,317 |fFTH 7,440 | FEH 32,788  BIEHIXER 23,119 |dt 18,876 [T 19,231 |@EWH 15,684 1R 76 |FriRT 11,877 1R 33,598
17 [{EE™H 26217 {E&™H 7426 |FLi%T 32698 FEM 22440 |WNITH 18,864  FLIRTH 18,749 |&ULv=FE 15,648 ZHET 76 | Ko 11,836 | AR 33,395
18 |lUfsTh 26,151 |&R™ 7,305 | &R 32621  KBRT 22,117 |fnFrl 18,629  EULVvi=FEM 18630 |REM 15,637 |RitE™ 74 |HEEERT 11,747 @& 33,392
19 |& 25,899 | 7,223 |RREH 32494  HFfTH 21,988 |luOm 18428  RI&H 18591  |#&EM 15,566 | &R 72 | FEM 11,619 | &R 33,268
20 |ZEHETN 24711 | SHWH 7,159 |RH 32285 FHEM 21,724 |RI&H 18,188 B[ 18,546  |[fHIEE T 15,537 EH 72 |i#EH 11,509 | &40t 33,185
21 | BIE™ 24024 |{EB™T 6,874 |[L&™ 32174 ERHH 21,596 |&ULVv=FEM 18,184 O 18408 (WO 15419 |$riaT 72 WA 11,470 LA 33,164
22 |HRREXEL 23,826 |#EET 6,795 |EIREB™ 32,165 HRM 21575 |E#TH 17,847 |/ 18,378 |&E#TH 15,345 |lLOTH 71 |ITH 11,366 |BRERTH 33,046
23 |&iR™ 23,613 @A™ 6,688 | =L 32013 K& 21545 |BETH 17,761  &/HEH 18,366 | KPR 15,184 | K 71 | AR 11,351 |FkETH 32,947
24 |f@H™ 23,302 tBFH ™ 6,574 | KiEWH 32006 KHTH 21,419 |&TH 17,755  BEH 18354 |{EET™ 15,102 ST ARECE i 11,283 &= 32,708
|25 [BERET 23222 ‘EIGH 6,533 | R 31962 HHEM 21,390 |l 17,741 #W 18253 |[f{EHh 14992 | BERT 70 |tER T 11,223 |fEHH 32,664
26 |EI&™ 23218 |HR#XEL 6,427 | AR 31,888 IKET 21332  |#&EM™ 17,727  #AREH 18,221  |RiE™ 14,921 fuET™H 70 [kE™ 11,191 LB 32,394
27 |HEE™ 23,118 +EIER™ 6,369 | Ko 31,832  REATH 21,308 |#AlUTH 17,694 B 18,153 (LB 14,888 | L& 70 |ERS™ 11,181 | RH™H 32,335
28 &N 22,733 \BRERTH 6,346 (FnFRILT 31,776 #AITH 21,299  |ERRETH 17,688  #Fimm 18,058 |Z 14,764 | Z 1L 69 |#A LT 11,166 | B2 RE 32,252
29 |RL™ 22,721 | Ri&H 6,128 |FH =™ 31533  EFum 21231 |MEERT 17,440  #UTH 17,998 |{L&™H 14,740 2™ 68 BT 11,135 EIREM 32,090
30 [FETH 21,259 VT 6,127 |t&RE 31,138 ZFEh 21,067 |i#Fh 17,293  RFEHMXE 17997  |#hBH 14,716 |BETH 68 [HEIEH 11,118 |FAH 31,876
31 [MNIT 20,866 SLVfzEM 6,053 (& HEM 31,137 @R 20878 |BHEM 17271 R 17,989 [{BE&™ 14,697 FHE™ 68 |SLV=FEM 11,100 fi&E 31,787
32 [FER 20,854 | FEM 6,022 | R 30844 {EET™ 20801 |&E40TH 17,142 FETH 17951 [F&E™ 14,634 \fEE™ 68 [({k&E™ 11,024 \BEARTH 31,751
33 |BE™ 19,619 | )1 5976 | 30,806 EUAT 20662 |fEBTH 17070  ufsth 17,679 |BEAT 14,254 | F#HFH 68 [iE#TH 11,016 Z2HE™ 31,651
34 |JIUETH 19,044 | BERTH 5911 [#ALTH 30631  KiEH 20568 |&iRH 17,040 £R™H 17,671 [#lmh 14,225 |{&8HH 67 |BHEM 10,995 #ERR™ 31,515
35 |t E™h 18,702 ZHET 5811 | = 30620 R 20502 | ALi% 16,903 I 17,646 @™ 14,160 | ¥ LT 67 [JI&TH 10,985 |EMATH 31,435
36 |SLV-EM 18,638 |E L 5,689 |REATH 30612 FEH 20410 |FEH 16,805 L& 17,633  |fkET™ 14,133 |REARTH 67 [REm 10,927 | R 31,285
37 |EWm 18,174 | F&H™T 5,589 [#AITH 30529  #yUTH 20,397 |RkET 16,664  IRXET 17,506  [iE#aTH 13,996 EHAT 66 |LLfzTT 10,916 AL 30,926
38 [FHET 16,798 |l B 5,532 |fLTH 30526  FnFwl 20,388 |Wizth 16,655  #EEM 17,200 |[ERBM 13,985 |E#RETH 66 |FRIRARX AR 10,908 | fEE™ 30,613
39 |E&R™ 16,511 EIREM 5423 | K& 30386 FERET 20363 |HHFT 16,536  FEM 17,085 |Ri&H 13,780 |IX B 66 [&RH 10,707 | FEH 30,268
40 |FfHH 15,301 | E#RETH 4937 [JKETH 30248  HitE™ 20336 |ETH 16,521 FFHh 16,792 |E&H 13,589 FnFLH 66 | AT 10,585 {£&ETH 30,092
41 |BRfFH 15,231 {l&E™ 4,651 | 29927 JKFTH 20228 |¥RT™ 16,036  =X0TH 16,751 [RETH 13579 |{BRE™H 65 |FA LTI 10,578 |ERRE ™ 29,954
42 |BREE™ 14,644 \FRETH 4575 | BEH 29922 iR 20,178  |f&HTH 15976  {EETH 16471 |FFHFM 13,568 |ALiEH 65 [FRAFH 10,476 |ALi%T 29,786
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46 |JKET™ 13,638 | fLiETH 4,508 |RItETH 28,707 fFTH 18,847 |BEME™ 14,742  BfFH 15,505  [dLAoNT 13,069 | R 61 |#LiR™ 10,227 |SLVEM 29,213
47 |fBB™ 12,587 |/KFETH 4254 (lhOTH 28501  uOm 18,357 |BfFH 14726 =BT 15,326  |FRfFH 12,958 {EE T 61 [FEH 10,167 |JIli&TH 28,286
48 |#LiR™ 12,463 | R FFTH 4,185 |EH™H 27,902 EiTH 18295 |BRET 14,550  EERATH 15310 [kFEH 12,796 | B FFTH 60 | FHMEH 9,886 |JKFTH 28,247
49 |RE™ 12,267 B 4,159 |tB8H ™ 27611  BHM 18,129 [kFETH 14467 BT 14,393  |#LiRH 12,719 | humh 60 (BT 9,729 |FHIETH 28,111
50 BB 12,020 B 3,803 [dE AT 27,271 dehiNT 17614 [{EEH 14432 KFETH 14,346 [S50H 12,463 K9 58 |E LT 9,636 | ERITEBX &F 27,255
51 | BT 11,409 |Fria 3,797 |fEE™ 27,097 &0 17,467  |RIB™H 13057 EHm 14085 |KHH 12,142 | &40th 56 |RiE™ 9,315 |HiitE™ 27,177
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